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English Verbal 

(Encircle the alphabet against the correct answer.) 

Select the choice which can correctly substitute the underlined part of 
the sentence. 
They could save money if they bought __________ furniture? 

A. economical 
B. economic 
C. economize 
D. economics 

Ali is falling __________ the horse. 
A. from 
B. of 
C. off 
D. above 

Select the choice which can correctly substitute the underlined part of 
the sentence. 
Synonym of Conform  

A. Rebel 
B. Obey 
C. Flout 
D. Challenge 

Persona Non Grata means 
A. Most Favorite person 
B. Unwelcomed Person 
C. Successful Person 
D. Rich Person 

Select the pair of words that best expresses a relationship similar to that 
expressed in the original pair. 
Buoyant: Sink 

A.  Liquid: Evaporate 
B.  Brittle: Cleave 
C.  Insoluble: Dissolve 
D.  Gaseous: Expand 

Despotic: Tyranny 
A. Authoritarian: Superiority 
B. Skillful: Celebrity 
C. Generous: Liberality 
D. Suspect: Illegality 

Analytical Reasoning 

(Encircle the alphabet against the correct answer.) 
 

Read the statement carefully and answer the Questions. 

At the camp pool, several boys are competing to get into the water. The camp 
counselors know that certain boys cannot be in the pool at the same time if any 
semblance of order is to be maintained. Ahmed, Waseem, Sohail, Dawood, 



 

Ehsaan, Farhan, and Nouman all want to get into the pool but the sequence is 
determined by the following conditions: 

 Ahmed gets into the pool only if Sohail gets into the pool. 

 If Waseem gets into the pool, then Sohail also gets into the pool. 

 Nouman gets into the pool only if Sohail and Ehsaan get into the pool. 

 Waseem gets into the pool if Nouman gets into the pool. 

 If Nouman is out of the pool, then Sohail is out of the pool. 
 

If Nouman is out of the pool, which of the following must be true? 
A. Ahmed is out of the pool. 
B. Dawood is in the pool. 
C. Ehsaan is in the pool. 
D. Sohail is out of the pool. 
E. Dawood is out of the pool. 

If Sohail is in the Pool, which of the following must be true? 
A. Dawood is in the pool. 
B. Dawood is out of the pool. 
C. Ahmed is in the pool. 
D. Waseem is out of the pool. 
E. Dawood is out of the pool. 

If Waseem is in the pool, which of the following must be true? 
A. Ahmed is out of the pool. 
B. Sohail is out of the pool. 
C. Dawood is out of the pool. 
D. Both A and B 
E. None of the above 

If Nouman and Ahmed are in the pool, which of the following must be true? 
A. Sohail is in the pool. 
B. Dawood is in the pool. 
C. Ehsaan is in the pool. 
D. both A and B 
E. both A and C 

If Farhan and Sohail are out of pool, which of the following is false? 
A. Ahmed is out of the pool 
B. Nouman is in the pool 
C. Nouman is out of the pool 
D. All of above 
E. None of Above 

Subject-MCQs 

(Encircle the alphabet against the correct answer.) 

The book ‘The Tragedy of Great Power Politics’ is written by:  

A. Kenneth Waltz 

B. Stephen Waltz 

C. Karl Marx 

D. John Mearsheimer  

Theory of structural realism is centered on the concept: 

A. International anarchy 

B. Differentiated capabilities of states 



 

C. Self-help 

D. All the above 

The concept of ‘Complex Interdependence’ was put forth by: 

A. James Rosenau 
B. Joseph Nye 
C. Robert Keohane 
D. Robert Keohane and Joseph Nye 

Arms Control means: 

A. Reduction or limitation of armament  

B. Total elimination of armament  

C. Prevention of armed conflict  

D. The removal of military or paramilitary forces from a 

determined area 

E. None of the Above  

Bretton Woods system was related to: 

A. Counter Alliance Making 

B. Containment 

C. International monetary management 

D. Poverty Alleviation 
Arbitration is a type of:   

A. Judicial Settlement of dispute 

B. Extra-Judicial Settlement of dispute 

C. Political Settlement 

D. Diplomatic settlement 

Which methodological approach gives importance to sociopolitical values: 

A. Positivism 

B. Interpretivism 

C. Constructivism 

D. Behaviouralism 

The research questions starting with “why” are:  

A. Explanatory 

B. Exploratory  

C. Descriptive  

D. Mixed 

Subjective Section 

Attempt all questions. (25 Marks) 

Question 1 

Analyze the power contestation between the United States and China in the 

framework of Realism theory.      (12.5)         

Question 2 

How do you assess the effects of domestic evolving political crisis on national 

image of Pakistan?    (12.5)             

 


